STANDARD REDUCTION POTENTIALS OF HALF-CELLS

Ironic concentrations are at 1M in water at 25°C

E° (Volts)

Oxidizing Agents Reducing Agents

Foq *+ 26 = 2F
S,0,% + 26" = 2S0,>

H,0, + 2H* +2e = 2H,0

MnO, +8H" + 5e" = Mn?* + 4H,0

Au* + 3e = Aug,

BrO; + 6H" + 5" =1/2 Bry, + 3H,0

ClO, + 8H" + 8e = CI + 4H,0

Cl, + 2e = 2Cr

Cr,0,% + 14H* + 6e" = 2Cr** + 7H,0

V2 Oyq) + 2H"+ 2€°= H,0

MnO,, + 4H" + 2e"= Mn** + 2H,0
IO; + 6H" + 5e = 12 I, + 3H,0

Bry, + 2e= 2Br
AuCl, + 3e = Aug, + 4CI

NO; + 4H"+ 3e'= NO,, + 2H,0
Hg® + 2e’= Hg,,
Y20, + 2H*(107 M) + 2e = H,O
2NO;" + 4H"+ 2e'= N,O, +2H,0
Ag'+e =Ag

%2 Hg,* + e'= Hg,,

Fe* + e = Fe*

Oy + 2H™ 26" = H,0,

MnO, + 2H,0 + 3e"= MnO,, + 40H-

Ly * 2672 21
Cu'+e= Cuy
H,SO, + 4H' + 4e'= S, + 3H,0
Cu* + 2e'= Cuy,
SO+ 4H* + 2¢"2 H,SO, + H,0
Cu*+e=Cu"
Sn** + 2e
S * 2H + 262 H,S,
2H" + 26" = Hyg)
Pb2 + 2e"= Pby,
Sn**+ 2e'= Sny,
Ni2* + 2e" = Ni,
H,PO, + 2H* + 2e= H,PO, + H,0
Co* + 2e'= Coy,
Se + 2H + 2¢" = H,Se
Cr+e=Cr*
............ 2H,0 + 2e" = H?+ 20H(107 M)
Overpotential Fe*" +2e = Fe
Effect  Ag,S +2e = 2Ag,, +S*
Cr’* + 3e = Cr,
------------- Zn* +2e° = Zn
Teg +2H" + 26" = H,Te
2H,0 + 2e = H,, + 20H"
Mn?* + 2e” = Mn,
AP + 3¢5 Al
Mg + 2e” = Mg,
Na® + e” = Na,
Ca* +2e = Ca
Sr** + 2e = Sr
Ba* + 2e = Ba,
K+ e 5Ky,
Rb* + e = Rb
Cs" +e =Cs
Li* + e = Li,
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